
  

 

 

(a) 1 
(b) 9 

(c) 2 

(d) 

(e) 

4 

Noneofthese 

 

 
 
 
 
 

Heldon:11-03-2012 (BasedonMemory) 
 

1. Inacertaincode‘TREAMWORK’iswritt

enas‘NBFUJQNV’and‘SOME’iswrittena

s‘PTDL’.Howis‘PERSON’writteninthatc

ode? 

(a) QDOOPT 

(b) QDOMNR 

(c) SFQMNR 

(d) SFQOPT 

(e) Noneofthese 

2. Howmanysuchpairsoflettersarethreei

nthe 

word‘SUBSTANCE’eachofwhichhasasm

anylettersbetweenthemintheword(in

bothforwardandbackwarddirections)as

intheEnglishalphabets? 

(a) None 

(b) One 

(c) Two 

(d) Three 

(e) Morethanthree 

3. HowmanymeaningfulEnglishwords,not

endingwith‘D’canbemadewiththethird,

thefifth,theseventhandtheninthletters

oftheword‘STEADFAST’ 

usingeachletteronlyonceineachword

? 

(a) None (b)One 

(c) Two (d)Three 

(e) Morethanthree 

4. Inacertaincode‘BASKET’iswrittenas‘5$3

%#1’and‘THIRD’iswrittenas‘14*#2’.H

owis‘SKIRT’writteninthatcode? 

(a) 3%*41 

(b) 3/%41 

(c) 3%#41 

(d) 3#4%1 

(e) Noneofthese 

5. Thepositionsofthefirstandthefifthdigits

ofthenumber81943275areinterchang

ed.Similarlythepositionsoftheseconda

ndthesixthdigitsareinterchangedandso

ontillthefourthandtheeightdigits.Whi

chofthefollowingwillbethethirddigitfr

omtherightendaftertherearrangement

? 
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10.Studythefollowingarrangementcarefull

yandanswerthequestionsgivenbelow: 
 

M3#RAT1EJ$K@FU54VI6©D8 

*GB7δ2W 

6. Fourofthefollowingfivearealikeinacerta

inwaybasedontheirpositionintheabove

arrangementandsoformagroup.Whichi

stheonethatdoesnotbelongtothatgrou

p? 

(a) TER 

(b) U4@ 

(c) 6DV 

(d) J1K 

(e) Nδ* 

7. Howmanysuchnumbersarethereinthea

bovearrangement,eachofwhichisimme

diatelyprecededbyaletterbutnotimm

ediatelyfollowedbyaletter? 

(a) None 

(b) One 

(c) Two 

(d) Three 

(e) Morethanthree 

8. Whatshouldcomeinplaceofthequest

ionmark(?)inthefollowingseriesbase

dontheabovearrangement? 

RT1 $@F 

(a) 8*H 

(b) 8HN 

(c) 8H7 

(d) D*H 

(e) Noneofthese 

9. Howmanysuchsymbolsarethereinthea

bovearrangement,eachofwhichisimme

diatelyprecededbyanumberandimmedi

atelyfollowedbyaletter? 

(a) None 

(b) One 

(c) Two 

(d) Three 

(e) Morethanthree 

10. Whichofthefollowingistheseventhtoth

eleftofthetwentiethfromtheleftendoft

heabovearrangement? 

(a) V 

(b) @ 

(c) δ 

(d) © 

(e) Noneofthese 
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15.Eachofthequestionsbelowconsistsofaquesti

onsandtwostatementsnumberedIandIIgivenb

elowit.Youhavetodecidewhetherthedataprov

idedinthestatementsaresufficienttoanswerqu

estion.Readboththestatementsand—  
 

Giveanswer(1)ifthedatainstatement 

I alonearesufficienttoa

nswerthequestion,wit

hthedatainstatementI

Ialonearenotsufficien

ttoanswerthequestion. 

Giveanswer(2)ifthedatainstatement 

II alonearesufficientto

answerthequestion, 

withthedatainstatemen

tIaloneare 
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